D»I2)ON 022N 9 190N YN

16.1.2015 TY NWOHND

:DNAN NN PO N R N .l
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V(a.b), (2,y) € Ry x Ry : (a,b) + (a,9) = (a+a,b+1)
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Y950 IMT YOINA LR YV NN W b+ y LR DY MDD W a + x IYND
20N 1IN D N LYPNN 090 Ry, Ry DY ©0930 DONYNN NONYI OINNN

DYy NN VX OND 07NN ONIN YN OXD AP 0NN ON OONRIAN 2D NN .3
212N DY 1OX DN ONM DTN

159 W) DNYY 019N YV Y95 NN OVZ[V2] = {a+ bv2|a,b € Z} (N)
(DNYYN ©19DNN YV NP NN XN NITNY NNIAPNY

15 MW DY DI9EN HY Y95 NN oyQ[V2] = {a + bv2|a,b € Q} ()
(0NN ©1I9DNN YV N¥AP NN XN NITHNY NNIAPNY

a b

M0Nn NM Y90 oy R = {( 0 0

> la,be R} n¥apn ()



